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1. Which of the following fraction?
7 19
(a) T b) 4
14 4
(c) 5 ) 11
2. Which of the following fraction?
17 43
(a) 3 b) 12
15 4
(c) 'i-i | (d) —5" .
3. Which of the following is an improper fraction?
2 1
(a) - (b) >
2 73
(c) 3 @ 10 -
4. Which of the following is an improper fraction?
1 5
(a) iz b) 9
4 Tz
(e) 13 (@) 2"
5. Which of the following is a mixed fraction?
2 3
(@) 7— BYr
5 13
@) @ 2.

6. The improper fraction f in the form of a mixed fraction is

@ gl @) a1
P 8
) 38 () A
7 8

7. Which of the following is not an equiva-lent fraction of 57

B 9
12 15
(c) —20 (d) a

8. Which of the following is an equivalent fraction of 37

4 6

(a) Y b) 13
1

) B ) .

11 15 -




9.1-71s equal to

(a) b) ;3
5
1

(c) @) 5 -

1.
+1is equal to

p—
S
“ARAIN N g oe

9
(a) b) i
11
L.
11.7 +3isequal to
(a) L (b) 2
“ 6 6
7 11
() = (d) 5
1 1.
12.7-7isequal to
@ = L
a) 5 b) 3
1 1
(c) 3 ) 1

13. Apala ate sofan orange. The remaining orange was eaten by Meenu. What part of the
orange was eaten by Meenu?

( 2
a) b) 5

W U=

(c) (d) None of these.

14. The side of an equilateral triangle is 7 cm. The perimeter of the triangle is
(@) 1 cm (b) 2 cm

3
(c) o cm (d) None of these.
15. The side of a square is 7 cm. The perimeter of the square is
(@) 1 cm (b) 2 cm

1 1 ‘
(c) 12 cm (d) 25 cm.




